4 (Sem-2) BUST

2016

COMMERCE
"Paper : 204
( Business Statistics )
" Full Marks:80 - -
Time : 3I hours .
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer Question Nos. 1, 2, 3 and any four
from the rest
1, 2 ST 3 % 29 e TR ST 419 2R
o1 R et w1 ee falRar T

1. (a) Define price relative of a-commcdity. 1
51 TG Yo e STew faa |
(b)) What are the different kinds of error
associated with tests of significance? 1
el PR ae wve [fen oFme Fh
1SS : :
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(2)

(c) Write True or False :
) G ST fora

fij Ifcov(x, y)is positive, then both the
regression coefficients are positive. 1
M cov(x, yR TH FRR T, (SR
SRR BN T ARE XT |

(i) Extreme values in a series does not
affect the arithmetic mean. 1
b Y I 5 T I TGS SIS
CoISl

(d) Fill in the blanks :

A 3 o@T =0 : |

() Data collected for the first time
through investigationarecalled____. 1
PN SRS AR AE RS
O ____ @IE |

(i) The sum of the deviations of
the values of a variable from its
mean is . 1
GOl BT WHR ol TFOR WL
Reopa Tl 1

(i) The values of the dependent variable
in interpolation and extrapolation
are termed as ____. 1
T W A O{OF RN
TR ____ R
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(e)

[/}

3. (a)

A16/684

(3)

If each observation of a given distribution
is multiplied by a constant value 3, find
the mean of the new set of observations if
the mean of the given distribution is 42.

I B ReE" ACeo! T+ 9o &35 3 fir
[T A W, (AR Mg PRI AT 9
Sferear 3% frar ReremcoR 10 42 =W |

Name two control charts for variables in
statistical quality control.

R RIPE gl fRegTe e cvge gt g
R A o o

Choose the correct answer :

e Teq MR Sferear :

Salient features responsible for seasonal
variations are

4pi® SfRFOR T A T JREPAR T4
(i) weather
9
(i) social custom
AfeRs e
(i) festival
TR
fiv) All of the above
@9RT (IMCHR (B

Write two limitations of statistics.
oo Reme 7b1 SR fo |
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(4)

(b) Two regression .coefficients in a distribu-
tion are calculated as —1-89 and -0-52.
[s it possible? Justify your answer. 2
b1 Re™ER B TR |NF Sferer IR
-1-89 W& -0-52 (@1 7| 9XH WK
A ? (OWR bedd Py faa |
(c) Find the geometric mean of 03 and 1-2. 2
 0-3 WF 1-23 Qe M1y Bfevear |

(d) What is a scatter diagram? 2
o o 2

(e} Mention two situations in which census
survey is a must. ' 2
A o1 ARERT v Tmy T ﬁ o1 RS
Pt e el | -

3. Answer any four parts of the following : 5x4=20
o R e oifot e e fory

(a) An aeroplane covers the four sides of
a square field at speeds of 1000 km,
2000 km, 3000 km and 4000 km per
hour respectively. What is the average
speed of the aeroplane in its journey
around the field?

R q@ 9o ¥fFS o9RT  vlRewRa
Y@ 1000 km, 2000 km, 3000 km &%
4000 km ofSbe SfRFy @ Rawa
YRR BRI ST FEATCS 56 SIS
R wfRe 2
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(5)

(b) If 5%. of electric bulbs -manufactured
by a company are defective, use Poisson
distribution to find the probability that
in a sample of 100 bulbs (i) S bulbs will
be defective and (ii) none will be defective.
(Given, e~>=0-007)

aﬁaﬁ@wﬁm%«*mwﬁﬁwm«
5% @HIE |/, TR 1000 REARMS
o e «bre () Sh Fge ReAafe
@R R WF (i) Ghle HyE REAMS
FPE AR o 3B efcwst IR Afw 311
(fan weR, e =0-007)

() Mention some sources of sccbndary
data. What precautions should be
taken in collecting secondary data?

(N YR (FDMAIF B3 Temg I 1 N B
I (HAS (RN FRYWS] ST 391
e - - %

oy 8t

(d) Discuss briefly various ‘problems
involved in the constructlon of index
numbers. o

I T RIS TSI (RN TR SR
SO 347 |
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(e)

4. (a)

(b)

A16/684

(6)

Using an appropriate interpolation
formula, estimate the weight of a baby at
the age of 4 months from the data given
below :

et o1 SRS TR TR o
SgRFR M1 4 TR TR b TEE GE
A 9 .
Age(nmonth) : 0 2 3 5 6
7 (V%)
Weight (Ibs) : S 7 8 10 12
& (TS )

Explain the term ‘classification’. Point
out the importance of classification in
statistical investigation. State the different
methods of classﬁcatlon of statistical

data. 2+2+2=6

aﬁ\ﬁawmwwuﬂﬁmﬁﬁa

Given the two regression equations as
follows :

4x-5y+33=0 and 20x-9y-107 =0

Find the correlation coefficient between
xand y.

AR AR 71 @or o s ey e
4x-3y+33=0 WF 20x-9y-107 =0
x OIF yI &S FTTH BNF Sfenaar |
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(7)

5. (@) Given the yearly profits of some .
companies. Calculate arithmetic mean

and standard deviation of yearly profits :
3+4=7

g @R IR =T e wez | IR ST
NG TG € TS REeACH! AT F90°:

Yearly Profits : 20-30 3040 40-50 50-60
(% in lakh) _

723 T (414 Br)

No. of Companies : 30
AN RN

Yearly Profits . 60-70 70-80 80-90- 90-100
(¥ in lakh)

T7f T (14 BITS)

No. of Companies : 105
QT R

58 62 85

70 42 28

(b) Write down the probability distribution
of the number of heads in a toss of
3 coins together. Also find average

number of heads. 2+1=3

RFD T e Fewt RO JeT
S TRl Ao fr 1 TR IR g
YA MG Tfers |
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6. (a) In an examination, 10 students secured
' the following marks in Business Statistics
and Accountancy,:

91+, 10 W yER ReE Ry
Rem uwr Rue-Roe e TR/ Reas wae
fram =mew '
Marks in Business
Statistics : 50 53 63 77 71 83 87 86 89 92

s AR R
s .

Marks in Accountancy : 57 57 82 85 52 68 91 77 83 86
Rorer -Rara 757

Find the correlation coefficient between
the marks in Business Statistics and
Accountancy. 7

IRTE AR Rem oF Roe-Ror w539
e FETTw ST S|

(b) State the essential points to be noted in
 drafting a questionnarie. 3
PIRA Ofrl 2T FACS TH RN

e Smy w11

~
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(9)

7. (a) State the multiplicdtive law of probability

and illustrate it with an examiple. - 2+4=6
Rl PR Bl o W B SR
T |

(b) A can hit a target thrice out of 5 shots,
B twice out of 5 shots and C thrice out

of 4 shots. They fire a volley. What is
the probability that A and C can hit

the target? 4

A B FTHEe 5 IE 99 3 I{; B, 5 I

Res 2 IW 9 C, 4 IR e 3 I/

EOE TR WS IRA I | (DSTE

wﬂameﬂ«wﬁmmwcwﬁw
e FI TSIl R 2

8. (a) What are assignable and chance causes
of variation in manufacturing process?
When is manufacturing process said to be
under statistical quality control? 4+1=5

ﬁfamqamwmw@vmﬁwﬁaw

o Seiesd 9T o[ R & cefem
Affa afFn @b R gTer Frgadia

M FRAA?
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(10 )

() The following table gives the index
numbers for different groups of items with
their respective weights for the year 2005
(base year =2000) :

WW2UO$W%(&W=2060
™) QR TN AT NI P E SR

foam e
Group Group Index No.  Group height
e oMIPF  cmIeR

Food (%RR) 525 40
Clothing 325 16
(comeys “ifven)

Fuel (3&) 240 15
Rent (X=[1) 180 20
Others (SFIFD) 200 9

Calculate the overall cost of living index

number. Interpret the result. 4+1=5
WP Qe AR 9 pere afesem w1
2% FACOIP PN I |

9. (a) What is time series? Give two examples
of time series. What are the different

components of time series? - 1+2+1=4
I o I P Sarar fm -
e RS o P21 R R 2
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(11 )

(b) Write short notes on (ény two) : 3x2=6
R @I PR 8oe vy Gt e
i) Sample survey and complete census
eifred Syt W STepef a1l RS
(i) Simple random sampling
YR o AfSHA

(i) Tests of hypothesis
o A

* k%
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